@ Kerro desimaalit kymmenelld negatiivisella
@ potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
1593,5%x 0.1 = 9638, 8 x 0.0001 =
9485,5 % 0.01 = 4064, 4 < 0.0001 =
8926,2 x 0.0001 = 6102, 1 x 0.0001 =
7528, 6 % 0.0001 = 1185,7 x0.001 =
7657,9 x 0.01 = 5778,1x0.001 =
8026 x 0.1 = 8796, 1 x 0.0001 =
6440, 3 x 0.001 = 1460,1 x 0.1 =
4822,1x0.1 = 6388,1 x 0.01 =
8961 x 0.0001 = 6543,7 % 0.1 =
7385,8 x 0.001 = 2870,7 x 0.0001 =
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BIERS

Kerro desimaalit kymmenelld negatiivisella
potenssilla

Nimi:

1593,5 % 0.1 = 159.35

9485,5 x 0.01 = 94.855

8926, 2 x 0.0001 = 0.89262

7528,6 % 0.0001 = 0.75286

7657,9 x 0.01 = 76.579

8026 x 0.1 = 802.6

6440, 3 x 0.001 = 6.4403

4822,1 x 0.1 =482.21

8961 x 0.0001 = 0.8961

7385,8 x0.001 = 7.3858

Paivamaara: Pisteet:

9638, 8 x 0.0001 = 0.96388

4064, 4 x 0.0001 = 0.40644

6102, 1 x 0.0001 = 0.61021

1185,7 % 0.001 = 1.1857

5778,1 x0.001 = 5.7781

8796, 1 x 0.0001 = 0.87961

1460, 1 x 0.1 = 146.01

6388, 1 x 0.01 = 63.881

6543,7 x 0.1 = 654.37

2870,7 x 0.0001 = 0.28707
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